Name: \‘L t \.i Hour: Date:

NOTES: Section 4.4 - Solve ax? + bx + ¢ = 0 by Factoring

Goals: #1 - I can factor a quadratic in the form ax? + bx + ¢ whena # 1.
#2 - | can factor a difference of two squares whena # 1. @ @ 4 &)
#3 - | can use the zero product property to solve ax? + bx + ¢ = 0 by factoring
whena # 1

Homework: Lesson 4.4 Worksheet

Exploration #1: Work with a partner. Find the product.
1. (4y—-3)(3y+8) 2. (5m+ 6)(5m —6)

124"+ 32y -9y - 24 75Mm* -g0m + b 0m -3b
124" 23y - 24 29M* -3

CHALLENGE: Can you go backwards? Break 5x2 — 17x + 6 into factors.

[(5x -2)(x-3),

Notes:

A
Recall, the standard form of a quadratic function: O\X Al Y') X Al (/

When 0\ - \ , it is simple to factor!

Example: x2 + 2x =35 —) \X > —’\ ( X~ 5)

When 0\ # \ __ itis not as simple... We are going to use the P\& mm() d_

to factor these beasts.
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Exampls #1: Factor the eXpression. Y. -5
N A(=5g= 30 2. 8t2+38t—10 = -20

AV
Ox 15k ax v BTz Mt nat - @
2 (4L 420t 9)
2 (46 (kr D) -1LETD))

[ZLer)(4e)

|
) You practice: Factor the expression.

1. 3x%+5x—12 3 -1L= -3v
i’>x"+qx\-%x ~1Z -

2. 12u? —28u - 24 o
%z B
L.‘('bu '-)\L'\D\ = -\%
4 (3u=qu *lu"o}@

4 (Bulw-3)+2(u-3))

1 (w-3) (Su.i)_}

————

, 2 (X +3) -4 (x 3)
\(x-t 5\(3x-‘1)ﬂ\

Notes:

There are still SOQ [/( M _ factoring patterns we caplogkfor!
o witkeeng 0t ywb <) 0VEs . px
Bxamples: 9 X * — 0 S| (3x+BDBXB)| (010 (0-b)

y
Ql\" - (B
» POCK(E Sauoye TONGmid 0tazap +)*
Examples: 2w} ™ - |1W +) Uk*b)
™ r oA a-20p b’

(W) 2lowd) ()" (o-b)
(ow -1
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Example #2: Factor the expression.

1. 16x2 -1

T 7
(4%) - (N°

2. 4r? - 28r + 49

Vo £
(‘Zr\z'z[ir-")(ﬂ

Notes:

We can still use TLZ V P to solve certain MY &J‘h (‘ e a-U ah 0 n S ’ ‘

1 3x2+10x—8=0 30~ AL 2. 5p% —16p + 15 = 4p -
4 ~Hg ¥5 ~Hp +5
5X HZX\' 2x %0 5? = 20P + 20 =0
2% ( xw\—?(x*ﬂ-\\ =0 6(?24;»“07%
o
()(*Lﬂ 2x-2)=0 ?2-'-“7}(‘—\’«0
A= (¢ 7 3%x-2-0 %
(p-2) =0
] 2 2-0
i -4 "L -
| \Ll-’z_) ! @
4 You practice: Solve the equation. -
1 6x2-3r-63=0 2+-717 “Rt 2 1274 7r 42 =148
3(2x - x - )70 ET N\ o
3 3 7 1%x-1-0 (vor - 0= ok Ll
Zx " -2 =0 =1 (Ul -0 ey

Ix =7xtox-21-0
X (2x- ) 3(2x-1) =0/ xi3=0

Example #3: Solve the equation.

:1/7_. v o 7 l)'(.
ﬂ ZYl’frflf \rnlr*

Vv §)
ux 1) (x 13) =0 _@ Zr&r’r:(\j\(\m\ E!
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